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OXEAN HAEZ IHESAI AAIEAHSSE
40,000,000 *14] 40,000
HSAHE STHAIAE |2 27,000 26,000 1,000
= 13,500
& 6,750
= 6,750
201 et AH| 27,000 26,000 1,000
= 13,500
= 6,750
= 6,750
02 =294 27,000 26,000 1,000
OXEAE YTAIAE RAES+-ZAH|
27,000,000& 14 27,000
= 13,500
& 6,750
= 6,750
SXE 25 234 105,000 187,500 A82,500
= 42,000
= 63,000
401 AIEHIZL 20| 105,000 187,500 A82,500
& 42,000
= 63,000
01 Al&Y| 105,000 179,800 AT74,800
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2N S
A 23 2= (2L 2Z/25H )
&2. REZ3HH 22l (He|: A 2)
S H - BR(S) - MSAY - B2 Ofl vl e MimE=T,
OYNEW & - NP OF S
105,000,000 2! * 14! 105,000
= 42,000
= 63,000
NEZRS dsEE K& 47,000 47,000
307 2I12+0| A 47,000 47,000
02 QA AMAIEE A 47,000 47,000
OXIEAL S22 AF CHAIMI XI&
10,000,000& =14 10,000
OSYUANA MSZ23H ISAE XA 4,000
OFE&HHI 1,980,000 x14A 1,980
OsaZaH 2,020,000& 14 2,020
oOLAsrn MSI2st MSAIY XA 33,000
OA & HI 6,000,000+ 14 6,000
OsaZgkd 3,000,000 x1 3,000
OJlzd 3,000,000& 1 3,000
A 3,000,000 x1H 3,000
(@FS=2mE 3,000,000 1 3,000
OF2ua 6,000,000 * 1= 6,000
Osud&uWA 4,000,000 1 4,000
OREs &4 3,000,000& x1= 3,000
OX S0 & Bt 2,000,000 1 2,000
2K H2SH L SES5M SLZHIXK (LS 5FE 30,000 30,000
0wz 24 o ey &)
= 21,000
& 4,500
= 4,500
401 AlIEHIZLL0HH] 30,000 30,000
= 21,000
= 4,500
= 4,500
01 Al&HI 30,000 30,000
O ot &t B4 L F=HAEH| &3
0,000,000 * 14! 30,000
= 21,000
= 4,500
= 4,500
2SS L S22 BELHYIXH (L 6Fx 25,000 25,000
U AUSEMEE 2HAHI)
= 17,500
& 3,750
o 3,750
401 A& HIL LTI 25,000 25,000
= 17,500
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M 2=
M. 23 2= (222 /28 )
o2l SEEIM 2el (He|: A 2)
2N - EH - O(3) - HSAY - BAS 01l b e HImS2t
= 3,750
= 3,750
01 A&l 25,000 0 25,000
OB FHEH ALSHLS UH
25,000,000 & *14] 25,000
= 17,500
&= 3,750
= 3,750
INNE 2N & SE23M E-FHUIX2 (2 A 600,000 0 600,000
At of=2tSESSACIEH] & AlCIEE T 2 o223
H FeS HE L ASFHI)
= 420,000
& 90,000
= 90,000
401 AIEHIZL 20| 600,000 0 600,000
= 420,000
& 90,000
= 90,000
01 AIEHI 580,000 0 580,000
LAAF BlABSH RIS NE L A=
] 580,000,000 %14 580,000
= 406,000
& 87,000
o 87,000
02 2teldl 20,000 0 20,000
QEAHAL =23 2els HE ¥ 85 F
| SAH Zel 20,000,000 14! 20,000
= 14,000
= 3,000
= 3,000
2HNEZ2SM L SE2SN BE4+THIXIJ (L At 80,000 0 80,000
A 2B HEEE )
= 56,000
& 12,000
i 12,000
401 Al HI X L20HY] 80,000 0 80,000
= 56,000
& 12,000
= 12,000
01 AlEH| 80,000 0 80,000
OSEtA L THESYE 2l
80,000,000& *14! 80,000
= 56,000
T 12,000
= 12,000
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2N S

A 23 2= (2L 2Z/25H )

&2. REZ3HH 22l (He|: A 2)
S - HE - SR(BI) - MISAIY - BAS Ofl vl e MimE=T,
2NN HESSMN L SE25HH S=FHIXR (L ik 65,000 0 65,000
A L2 EtB2 OFM LI AX])

= 45,500
& 9,750
= 9,750
401 AlEHIL 20 65,000 0 65,000
= 45,500
& 9,750
= 9,750
01 Al&HI 65,000 0 65,000
OLHAIAL EHEH 2 OHRILIZH M|
65,000,000 *14] 65,000
= 45,500
= 9,750
o 9,750
=oed 2229 243,731 186, 150 57,581
J| 138,652
= 31,524
= 73,555
S otMEHIRA X & 22 159,800 141,150 18,650
J| 79,900
= 23,970
= 55,930
101 @124 159,800 141,150 18,650
J| 79,900
& 23,970
= 55,930
M4 IJIZtMZ2E2XNSEs 159,800 141,150 18,650
O3 (SHAAF L&) ot AHH| 2 Bl X
159,800,000 & * 14! 159,800
J| 79,900
= 23,970
o 55,930
S3H 2SHAIE A2 45,000 45,000 0
J| 31,500
= 4,050
= 9,450
201 LetEAH| 45,000 45,000 0
J| 31,500
= 4,050
= 9,450
02 Z=2294| 45,000 45,000 0
OS2 (AL L) THHERIXIAIE S X2
2| 45,000,000 14! 45,000
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2A: SN0
MM 23 2= (23U 22 /23H)
te: 2IRA 2Ael2dY (He|: A 2)
S - HE - SR(BI) - MISAIY - BAS ol by e MmE=}
J| 31,500
& 4,050
= 9,450
23 THHEXAIE 25 38,931 0 38,931
J| 27,252
& 3,504
= 8,175
401 AlIEH|ILL0HH] 38,931 0 38,931
J| 27,252
= 3,504
= 8,175
01 A& U 38,931 0 38,931
O3 MHALXAIE 2=
38,931,000& 14 38,931
J| 27,252
= 3,504
= 8,175
SEISHN 2t 56,600 2,056,600 22,000,000
& 5,500
= 51,100
FHIIIN M523 NS 45,600 45,600 0
301 Lete N3 45,600 45,600
14 JIEtE A2 45,600 45,600
Ok =M 82 A& 45,600
OB &&52 1,000,000 x2H =122 24,000
OBRHH M52
900, 000& *x2CH X« 122 21,600
SESSIH(ZHEAL) &= XRAY 11,000 11,000 0
= 5,500
= 5,500
307 QI2+0| ™ 11,000 11,000 0
= 5,500
i 5,500
02 RI2HAEAAIHE X 11,000 11,000 0
O PEIsIM SMEAF XA
5,500,000 *23] 11,000
= 5,500
= 5,500
HSALEG (2L /HIS) 1,294,119 1,210,043 84,076
HEAE 22| 1,294,119 1,210,043 84,076
AEHESAIE SA22 308,599 222,820 85,779
101 @124 | 13,853 18,320 N4 467
M IIRHZ220SES 13,853 18,320 N4,467
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fA:

S M=

D NSALZY(SHLBB/HS)
ool MSAA 22 (crel: =g
= = w2 d L=
2A-F3H-H2(3) - MRAY - BES Ol - %E% HwES2
OARRHSAIE HIE=Y 0122
76,96021%30 2674 & 13,853
201 Usr2| 138,846 03,600 3,246
01 AFR 22| 33,446 21,600 11,846
OANEHZ 242 RS (LAY, AS
grot) 19,446,000 %141 19,446
022 HMSAL SY(22ES)
6,000, 00024141 6,000
OARDHSAL A H2Y MaDIZS
el 8,000,00021 14! 8,000
2 B2 105,400 8,000 23,400
0AR2HSAL BB
50,000, 00024144 50,000
ONFEE=EIEITE 30,000, 00024141 30,000
OAZAE HAE 23,000,00021%14] 23,000
OMBIHOIESE IS QHE
1,200,00021%23] 2,400
202 01t 900 900
ENEE 900 900
OMEAIL SXZ2 ST
20,0002/+32/+153] 900
401 A& HI RS TH| 150,000 90,000 60,000
01 Al 150,000 90,000 60,000
OATRR HMSAL RX24
50,000, 00024144 50,000
OMTBZIIE | 5,000,00021#43] 20,000
O6HSE HOIERT XM 24
30,000, 00024144 30,000
OBMH(BEH) A X
50,000, 00024141 50,000
405 Tt S 5,000 10,000 £5,000
01 ML SZF S| 5,000 10,000 5,000
OARRHSAE S27Y
5,000, 00021144 5,000
FYAYHSE ALBL] 113,900 109,500 4,400
201 UBr2 | 103,900 99,500 4,400
REEE 13,500 10,900 2,600
CHUHSE 2 (ARE0)
2,000,00020x144 2,000
OAIS HZ 2429 YUE(FI I, LY
SHl,E2INHF, ASH)
9,500, 0002+ 14! 9,500
OSEA WE L MAIIZES
2,000,00024x144 2,000
2 B2 90,400 88,600 1,800
o®II92 2,100,00021* 122 25,200
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2 2SHSEN
FAM: HSALZ (2522 /M=)

o2l MsA4 2el (He|: A 2)
2N - EH - O(3) - HSAY - BAS 01l b e HImS2t
OAlE EHl |8l 20,000,000 14! 20,000
QudtI+ER3 100,000+ 123 1,200
ORNIBBAIEZE HEEH ===
1,500,000 x23] 3,000
OAUs& a2l 89
40,000,000& =14 40,000
OAUX=2 S8 M+X o
500,000&*x23| 1,000
401 AIEHIZL 20| 10,000 10,000
01 Al&Hl 10,000 10,000
QAUN=EZ AIEE |Xl2tel
10,000,000 =14 10,000
SE2SE Aldze] 302,231 317,088 A 14,857
101 el24d] 7,6% 7,328 368
MU IIERZ2ENSE S 7,6% 7,328 368
OBSREY FHNY A9Y
76,9603 *20B +53| 7,6%
201 LBt AY| 204,535 164,760 39,775
01 Ar22teldl 37,571 26,000 11,571
0ZESSE 2Y(ADES)
2,500,000 14 2,500
OAEEE =2 AXZ(HI|LH], A
AH|, 2N A2 0ot
28,071,000 & =14 28,071
QA MMz, MYJISE PLUS
6,000,000 * 14 6,000
OFTE2SE MSESX ML HE=
1,000,000&! 14! 1,000
02 22=2Z| 166,964 138,760 28,204
OZE=RsE 2523 R,72
OSEgzst SHes
226,770 x 123 2,722
OZeg2sd IR
4,800,000& x12& 57,600
Oz82EY Asl4ER3
2,400,000&x12& 28,800
Ozgesa JEZTRS
300,000&*12& 3,600
0ZU2EE YAR
43,000,000 * 14 43,000
OZE2SE ZSEEAH|
1,500,000& #43] 6,000
OSEECANAE S 2els8d
265, 1002+ 123 3,182
OCCIVR A2+ 780,000 x12& 9,360
OZH2EY 293 HABY
1,350,000& 23] 2,700
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fA:

[ DR [E=N3

I HSALSY(2HL2/TS)
o9l MSAlL 22 (o) M)
= = w2 d L=
SN - BE - S2A(3) - HRAY - BES 04l st e HlmE2
OAEFE KX 10,000,000 +14] 10,000
401 AISHI L S| 9,000 145,000 255,000
1 Al 90,000 145,000 255,000
ozsesy RX2 9,000
OZHSES MM HEXAY SXT
JE 50,000,00021% 14} 50,000
OZH2SH Aagx2el
20,000, 00024 +1A! 20,000
OZHSEY +2HNXY
20,000,000%4%14] 20,000
AOISZIIE Al 22l 360,263 344,556 5,712
101 Q124 24,628 23,450 1,178
VBIE S =] 24,628 23,450 1,178
OAIZZIIF FHEH| 2
76,9021 +202 03] 15,302
OBHHYTE FHHY| 22
76,96021+2024463] 9,23
201 2Br2 | 23,760 205,706 27,054
01 AfR 22l 31,200 24,346 6,854
OAIZZIIE 2H(LRES)
3,000,00021%14] 3,000
OMOIZZIIE JIE 2HTL 22
00,0002+ 122 1,200
OHFAME, MAIIBETYS
5,000,000 %14} 5,000
OAEEY 248 Y UXE(IILH, 2
A&, 52|, AS 8o
22,000,0002114] 22,000
2 ZZ2YH| 201,560 181,360 20,200
023222 L HA 65,000, 00024141 65,000
OAEFE KX 25,000,0002114] 25,000
OAMOIZZIIF TV SX 24|
73,0002+ 128 8,760
OAMOIZZIIF 23 H4+Z Fa
900,000 %23 1,800
OAMOIZZIIT B
43,000,000%4%14] 43,000
OAIZZIIT 2+H2AL 22|
25,000,002 14} 25,000
OAMOIZZIIE FRUE ® SHA B9
2,600,000 53] 13,000
OMOIZHIIH DI0IRAT
100, 000212004 20,000
202 01t 2,880 2,400 480
TETTE 2,880 2,400 480
AOIZZIIE H2= o1t
80,0002 +3% 122 2,880
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2A:

I‘I ZH

C,l»ol

DHSA

[ DR [E=N3
HMEANEEI (2L 22/ =)
A 2e]

S H - BR(S) - MSAY - B2 Ofl vl e MimE=T,
401 AlIE2H|ILL20HH] 86,000 90,000 24,000
01 Al&HI 86,000 90,000 A4,000
OARQOI2HI A HWEEE R4 4
35,000,000 * 14! 35,000
OAOIZ2HI|E 22
15,000,000& 14! 15,000
OAOIZ2HIIZ AMEES |Xl2a
20,000,000& 14 20,000
OILILI# EFOIYAIAE &EX|
16,000,000& 14 16,000
405 XHaHEISHI 4,000 23,000 219,000
01 AL Z2SFSHI 4,000 23,000 19,000
ONXSAIAE 1] 4,000,000 *1IH 4,000
X&EH HOISE AlE 22 25,284 24,691 533
101 21244 13,084 13,191 A107
4 JI2ZtMZ22NsSEs 13,084 13,191 A107
OBMXZ D& JH| eI
76,9602/ 482+ 102! 6,157
OXEI BIOIZE FEI| oY
76,9602 *9H * 103 6,927
201 et AH| 2,200 1,500 700
02 32294 2,200 1,500 700
0522 2,200,000 =14 2,200
401 AIEHIL 20| 10,000 10,000
01 Al&H| 10,000 10,000
OBWEIIE A& X2
10,000,000 & * 14 10,000
=0IHISHE AlE2tE] 118,437 116,128 2,309
101 @124d| 7,6% 7,328 368
% IRIMZ2ISES 7,6% 7,328 368
ORQUSHE =Y ol
76,9602 20 *x53] 7,696
201 LBt AH| 100,741 98,800 1,941
01 AF222|H| 22,425 14,200 8,225
O=Z0IMSHEH 2H(AZHEEE)
2,000,000 * 14! 2,000
O=0INFHE JIE ZFHA =2
100 000%*12% 1,200
OANEEAH 42 L AXS(HIAIE, A8
OlF, ASBIG A0
14,224, 1603 * 14 14,225
O &M=L MYDIs&EFY
5,000,000 *1A! 5,000
2 332l 78,316 84,600 NG,284
O=0UXFHE 5522 23,316
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2 2SHSEN
FM: HSALIS (222 /[
=l MSAIE 22l

(etel: &)

S H - BR(S) - MSAY - B2 Ofl vl e MimE=T,
OSEEHCIA A SX|2e|2d
143,000 =128 1,716
OMI|2 1,000,000 x12& 12,000
Oalot=ER2=2 500,000& x 12& 6,000
OJIEts=sR22 300,000& *123] 3,600
O=0INFHE HFAE2A
45,000,000 *14] 45,000
OAEEHl RAIH] 10,000,000 * 14 10,000
401 Al HIZL 20| 10,000 10,000
01 Al&H| 10,000 10,000
O=0IMFHEH A2 FA22]
10,000,000 14 10,000
QUM HE A& 75,400 75,260 140
201 YEt2AH| 65,400 65,260 140
01 AFR222|BI 15,360 12,860 2,500
OUUMBFSHE 2H(A2E2)
2,500,000 %14 2,500
OYLMEHSUE SHBA 242
30,0002 x12& 360
OYAMET2HEH SFEAHE, MYIISE
= 3,000,000& * 14! 3,000
OANEEE =22 AXS
9,500,000 *14] 9,500
2 B=22%HI 50,040 52,400 A2,360
OYAMEIRHEH 523 20,040
ONII2 1,300,000 *12& 15,600
Odetr=ER= 70,000& = 12& 840
OJIEtsse= 300,000& x12& 3,600
OLUMEHFHE HAaztel
30,000,000& 14 30,000
401 Al HIZL 2008 10,000 10,000
01 Al&EH| 10,000 10,000
OYUMEHSHEH RS
10,000,000 & 14! 10,000
UoHHIE A 2USH 2L 2AZ/HS) 11,800,904 10,898,266 902,638
J| 220,826
= 1,228,881
= 10,351,197
Hsgs s4 1 1,356,948 1,199,074 157,874
J| 220,826
= 13,881
= 1,122,241
He 243 XA 74,000 558,624 N\484,624
201 LBt2AH| 70,000 20,000 50,000
01 AF222|HI 50,000 20,000 30,000
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2N S
B oS AW AsH(SIYVE/HS)
=9 dsgs s4 A =ESED)
S H - BR(S) - MSAY - B2 Ofl vl e MimE=T,
OZEFC 27 220l
25,000,000& 14| 25,000
OM<Us KN 29|
10,000,000 & 14! 10,000
ON=H42 AIOIZ20HE XI& 294|
15,000,000& * 14 15,000
03 A2 20,000 0 20,000
OZLUNZTSEAIS 20,000,000 & * 14! 20,000
202 o4d] 4,000 4,000
01 2LHoH] 4,000 4,000
oOZZE M=z XA
100,000 x4H x10&] 4,000
oz Hsgs N 153,440 148,206 5,234
J| 76,720
= 76,720
307 BI2+0| M 153,440 148,206 5,234
J| 76,720
= 76,720
02 Q2HEAMAIRE A 153,440 148,206 5,234
oM HEES KN BHXI
153,440,000 * 14! 153,440
J| 76,720
= 76,720
MEYEZZ )M 29 12,000 20,000 A8,000
= 6,000
= 6,000
307 2I12H0|A 12,000 20,000 A8,000
= 6,000
= 6,000
02 QI+ AAE B 12,000 20,000 /8,000
OoMENs e 29 K&
12,000,000&! 14! 12,000
== 6,000
= 6,000
sz 29 652,312 110,550 541,762
307 21201 A 652,312 110,550 541,762
02 2B AMAIEE X 5,000 0 5,000
oAM= HIIEI3J)
5,000,000 *14! 5,000
03 QI E 2 IHIE X 647,312 110,550 536,762
oAM= 21H4H| X 432,820
OAIR=2& 61,569,000 14 61,569
O H 47,515,500& x4 H 190,062
OF2a 36,501,000&+2H 73,002
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2A: SN0
B oS AW AsH(SIYVE/HS)
=9 dsgs s4 A =ESED)
S H - BR(S) - MSAY - B2 Ofl vl e MimE=T,
(OFSEVE=INEIN; 40,627,000& 14 40,627
QAUEE (MRS 2)
4,79, 500948 38,340
SEEEEE 3,662, 5002146 29,220
ogYZHSs 2B X2
90,742,000 x14] 90,742
(O E=INE=NIFS Y] Al 123,750
OHNMI2XNEXN H2MHE K& 123,750
-=AH| 140,000 x 1121 12& 18,480
-S| 200,000& x1101x 12 26,400
=t = 60,000&*1121x12& 7,920
I 50,0002 %«1101x 123 6,600
-H&FIH| 1,233,000 x1121x23] 27,126
-Z2ELFE 170,000 1121« 128 22,440
A2 E 50,0003 «11H =128 6,600
-EINAEZ 62,0002 11 *12& 8,184
MEHFAN =X &= X 184,128 177,848 6,280
J| 92,064
= 92,064
307 2I12+0| M 184,128 177,848 6,280
J| 92,064
= 92,064
02 QIZIFAAIHEE R 184,128 177,848 6,280
OMEN XX HHX
184,128,000 *14] 184,128
J| 92,064
= 92,064
ool MEF X=X BHXI 30,528 29,641 887
J| 15,264
= 15,264
307 2I12+0| A 30,528 29,641 887
J| 15,264
= 15,264
02 QIZIFAAIHEE R 30,528 29,641 887
O&ONC! MEHFAITAF HHXI
30,528,000& 14 30,528
J| 15,264
= 15,264
SoH=0E K& 29,000 29,000
202 04H] 2,000 2,000
01 =2LHoIY] 2,000 2,000
OZ8IXN=Us & XA
400,000& x5H *13| 2,000
301 LetEd 32 27,000 27,000 0
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2N S
B oS AW AsH(SIYVE/HS)
=9 dsgs s4 A =ESED)
S - HE - SR(BI) - MISAIY - BAS Ofl vl e MimE=T,
11 HAFAHIX S 2 27,000 27,000 0
AL ESE HAUK 29
27,000,000 14 27,000
AZX2Z ol2d X 40,000 19,805 20,195
J| 28,000
& 6,000
= 6,000
301 Lete X2 40,000 19,805 20,19
J| 28,000
T 6,000
= 6,000
01 M BEELHS(2DEXTME) 40,000 19,805 20,195
OAE=AUA 0l2A
100,000 x40 * 102 40,000
J| 28,000
= 6,000
T 6,000
AZXOINE 435 169,000 10,000 159,000
201 eEt2Ab| 165,000 10,000 155,000
01 AF222|H| 15,000 10,000 5,000
OAEX[IAEY S2HH|
15,000,000 14! 15,000
03 HAF2HYI 150,000 0 150,000
OXEUS X =&
150,000,000 & * 14! 150,000
202 o48] 4,000 4,000
01 2LH0Y| 4,000 4,000
OAZE[OIAEY F&X
100,000 x4Z +103] 4,000
ZHOHO! A2 0|SA AL 12,540 3,400 9,140
J| 8,778
= 1,881
= 1,881
301 LEtENZ 12,540 3,400 9,140
J| 8,778
== 1,881
= 1,881
01 AIBIBE M AHZS(ZDEXTHE) 12,540 3,400 9,140
Q& AZAUZ 0|2H
501,600 *253] 12,540
J| 8,778
= 1,881
= 1,881
HMSAE &5 9,506,000 8,765,000 741,000
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2N S
MU QTR AW Y2/
2 MEBAIE &= (He|: A 2)
S - HE - SR(BI) - MISAIY - BAS Ofl vl e MimE=T,
& 1,215,000
= 8,291,000
S2HEAE &5 500,000 500,000
201 YBr2AH| 10,000 10,000
01 AFR2elH| 10,000 10,000
O23M=AIE AXI234]
5,000,000 *14] 5,000
OEXNLHHIII=+2 5,000,000 * 14! 5,000
401 AlEHIZL 2 0HH] 490,000 490,000
01 Al&HI 490,000 490,000
OBSH=FAlE EXI0HLHI
490,000,000& 14! 490,000
MEH TSRS AL 1,551,000 3,000,000 1,449,000
401 AEHIZL 2B 1,551,000 3,000,000 A 1,449,000
01 Al&HI 1,471,000 2,700,000 N 1,229,000
Oy MEHRSE ZMALY
1,471,000,000& * 14 1,471,000
02 Zeldl 70,000 300,000 230,000
OflY MENIZTIE ZHAIY 22l8]
70,000,000& * 14! 70,000
03 Al 20| 10,000 0 10,000
o8y MEMEId 2AAY 20bl
10,000,000& 14| 10,000
Ak I=sH Mgt HEY 1,740,000 2,158,000 A418,000
401 AIZHIL 20| 1,740,000 2,158,000 A418,000
01 Al&HI 1,740,000 2,158,000 A\418,000
OUI=EM=sS HE 3At
1,740,000,000& * 14 1,740,000
Ak S HHAS 2,950,000 2,267,000 683,000
401 AIEHIZLL20HHI 2,950,000 2,267,000 683,000
01 Al&EH| 2,950,000 2,067,000 883,000
O==& HE SAH 2,950,000,000& 14! 2,950,000
AEH MEHSSR ZHAIY 1,890,000 20,000 1,870,000
= 1,215,000
= 675,000
401 AIEHIZL 20| 1,890,000 20,000 1,870,000
& 1,215,000
= 675,000
01 Al&HI 1,890,000 20,000 1,870,000
O MEHYS2R X4 ZAHEZH])
1,890,000,000& * 14 1,890,000
L= 1,215,000
= 675,000
SEH FSRE SSAMY 875,000 0 875,000
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2N S
MU QTR AW Y2/
2 MEBAIE &= (He|: A 2)
S H - BR(S) - MSAY - B2 Ofl vl e MimE=T,
401 AlIE2H|ILL20HH] 875,000 875,000
01 Al&HI 875,000 875,000
O8l= S7E& SSAE At
875,000,000& * 1A 875,000
alE 29 937,956 934,192 3,764
AOI2E B4 XA 937,956 934,192 3,764
201 Lt AH| 15,600 15,000 600
01 Al2221H 600 0 600
ORFSSYIIT SHAN LT
100,000 *3H 23| 600
2 332%Hl 15,000 15,000 0
OAOIEE AMEZESXI2e]
1,250,000& x12& 15,000
202 4] 1,200 1,000 200
01 U0/ 1,200 1,000 200
OIS A0IS0E BF 212
150,000& x4 H %23| 1,200
301 LEtENZ 881,156 878,192 2,964
M Hsr2sHi2 32,000 28,000 4,000
OAQIE Hd== stAia A&
4,000,000 82! 32,000
o=t - 2SESEAZ 829, 156 830,192 N1,036
OAOIE2& 4= 2124 829,156
oJles 4,300,000& 1021 12& 516,000
(@OFSpLE= 200,000 x1Q1x12& 2,400
(@ go k= 8,000,000& *14! 8,000
O=&| 30,0002 *1021%300 90,000
OfXZEd & HalEsd|
700,000& x1021x93] 63,000
Ol1l=t| 1,000,000& x10&*23] 20,000
@S 20,000,000& #2021 40,000
O4UEE (AIE IR =)
608,400,000 *%% 54,756
Od4 ¢ UASEH| 200,000 * 10 2,000
Oagds S=H| 3,000,000 *14] 3,000
Oxs dabl 10,000,000&! x3H 30,000
14 J|EtE &2 20,000 20,000 0
oua & EAM2 2,000,000& %102/ 20,000
405 XHAFFISHI 40,000 40,000
01 AL Z2EFSHI 40,000 40,000
OAIOIZ EIOI & 28 72¢
40,000,000 *x14] 40,000
UHHIE AMA = (2L 2Z/HK) 1,699,280 0 1,699,280
250,000
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2N S
A U] AW HB(2IUB/AK)
&2 ZAJT0IASUE =l CERED
S H - BR(S) - MSAY - B2 Ofl vl e MimE=T,
= 1,449,280
ZATOMSEUE =H| 1,699,280 0 1,699,280
= 250,000
= 1,449,280
2R3 1,699,280 0 1,699,280
= 250,000
= 1,449,280
201 et AH| 876,400 876,400
01 AF222|H| 4,400 4,400
OZ8XNM =& 32 2H
3,000,000& x14] 3,000
OZHSHAI CHEHAF MICHA TOIRIE =&
200,000 *7H*13] 1,400
03 HAF2HBI 872,000 0 872,000
OSCIXE ZIHEAIOH - HIZA! S)UHs =2
2 850,000,000& * 14 850,000
O3 AXAJ3| LCHA SHAF IHE
22,000,000& 14| 22,000
202 04H] 2,880 2,880
01 Z2LHoY| 2,880 2,880
OSAIE Ast & T2 2
120,000& «3H *83| 2,880
207 AN 20,000 20,000
02 AR 20,000 20,000
OZ8IX& SHOIK =
20,000,000& * 14! 20,000
401 AIEHIZL 204 800,000 0 800,000
= 250,000
= 550,000
01 Al&EH| 800,000 0 800,000
OZ=EI2=Z E2H LAY
500,000,000& * 14! 500,000
& 250,000
= 250,000
OHILIAE HELSAS
300,000,000 * 14! 300,000
HNMSAZH| (SIS (DIEHDIEH 421,435 412,101 9,334
olEHH|(23tM=1) 335,098 325,040 10,058
ol HH| (23t 1) 335,098 325,040 10,058
101 o121d| 335,098 325,040 10,058
01 24 84,112 83,259 853
Ox1U=2RE 10,952& *480A| 2+ 16H 84,112
03 BRA(RINHL) 222 250,986 241,781 9,205
O & 22| o2 60,258
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2N S
M BSAAU(SHUS ) OIEIIE)
S9l: QS| (SEHSD) (ool &2
S H - BR(S) - MSAY - B2 Ofl vl e MimE=T,
SETPEErSE
121,000& #5624 x24 2! % 150% 26,136
OFL224Z(10022/50)
121,000 *62 *94 ! +50% 34,122
OZ2=Ms Al 22|02l 83,904
OFY2RLg
114, 7003 *7 B 522+ 150% 62,627
O U224 (10022950)
114, 700 R *7 2 532! *50% 21,277
ORI M AR HEIZZ 22|12 39,674
OfYRLY
119, 5002 4 +242+ 150% 17,208
OF Y224 (10022150)
119,500 4 x4 2! %500% 22,466
O2SIN=D BF A A+
22,8403 *3BA| 2Fx 128 %7 A 67,150
J|2Zdl(2stHIs 1) 86,337 87,061 NT24
JI223d(2sHIS ) 86,337 87,061 NT24
201 LUt AH| 61,512 62,906 N1,3%
01 AF222|H| 55,512 56,906 N 1,3%
O23=N3g& 9% 2IHAZZ2XN U=
ul| 500,000& *6H 3,000
OLbteIEASAEIEZ I |t=22 Xt 1)
=H| 500,000& *3H+300, 00014 1,800
ONMSAIE 2IHAL2 2 OI=HI
500, 0002 *22H4300, 0002 +7 22 3,100
oYL +EH|(ZATA) 47,612
OYg=gY| 14,300,000 141 14,390
ORY4 LA
21,390,000 * 14! 21,390
OZ | 6,432,000 x14] 6,432
Ox= 5,400,000 * 14! 5,400
2 332%H| 6,000 6,000 0
OX |Xl&e2ldl 6,000,000&x1&8 6,000
202 o481 17,300 18,500 A1,200
01 Z2LHodY| 17,300 18,500 N1,200
OJIE2gR=E0| 17,300,000 & * 14 17,300
203 LR F=XIH| 7,525 5,655 1,870
03 AMEFXHRFAIY| 2,000 0 2,000
ORI =E &4d3 g =X
2,000,000 * 14! 2,000
04 PA2HLRFEH| 5,525 5,655 A130
ORMBIYRE=EH| 5,525,000 x 14! 5,525
NMRE=(2SHSIH (S22 /S5 22t 1,547,650 860,000 687,650
WHEHHXI= 1,547,650 860,000 687,650
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2M: 2=
FM: MRS (2SHSD) (22 /25 22 ht)

o2 LHENHCHX = (che: &)
= = = Jd L
2N - ZH - 2(3H) - MIRAI - BHES Oll hhoH %E_% Hws2
LHEHH XIS 1,547,650 860,000 687,650
72 J128E=2 1,547,650 860,000 687,650
01 J12N&E2 1,547,650 860,000 687,650

=
o=u=MsEI IS HES

1,547,650,000& 1,547,650
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